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QUESTION NO: 1

Which statement is correct about alarms in AppFormix?

A. Static alarm are compared against fixed thresholds

B. Alarm thresholds cannot be changed by the user

C. Alarm actions cannot be change by the user

D. Static alarms are compared against historical data

ANSWER: A 

Explanation:

QUESTION NO: 2

In which two scenarios is Contrail used? (Choose two.)

A. private cloud networking

B. network hardware lifecycle management

C. Network Functions Virtualization

D. policy-based routing

ANSWER: A C 

QUESTION NO: 3

Which two protocols are used in a Contrail system to exchange routing information? (Choose two)

A. XMPP

B. BGP

C. OSPF
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D. IS-IS

ANSWER: A B 

QUESTION NO: 4

Which two statement describe virtual network functions (VNFs)? (Choose two)

A. VNFs are provided at a customer’s site or telco cloud

B. VNFs represent the service that monitors and tracks whether the services are performing according to design

C. VNFs represent the infrastructure the comprises the telco underlay network

D. VNFs can be deployed as a software function within a single x86 platform

ANSWER: A C 

QUESTION NO: 5

Which type of service would allow you to provision five servers with Windows Server 2016 installed?

A. IaaS

B. PaaS

C. SaaS

D. FWaaS

ANSWER: B 

QUESTION NO: 6

What is a primary difference between NFV and VNF?

A. A VNF defines the network underlay tunnel methodology while NFV is firewall that inspects traffic in the overlay network.

B. NFV is the framework that describes how a virtual function should operate while VNF is the virtual function itself

C. A VNF operates on a bare metal server while NFV operates on a switch

D. NFV identifies the host on which the VNF operates.

ANSWER: B 

Explanation:
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QUESTION NO: 7

Which node in a Contrail cluster is used to collect data from the routers?

A. control node

B. analytics node

C. compute node

D. configuration node

ANSWER: B 

QUESTION NO: 8

Exhibit:

Which type of the topology is shown in the exhibit?(picture)

A. EGP topology
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B. spine-and-leaf topology

C. tree topology

D. hub-and-spoke topology

ANSWER: B 

QUESTION NO: 9

Which two statements are true regarding private cloud services? (Choose two.)

A. A private cloud must apply encryption to all stored data

B. A private cloud has dedicated resources for individual customers

C. A private cloud can be deployed in a service provider network

D. A private cloud cannot connect to a public cloud

ANSWER: B C 

QUESTION NO: 10

Which two statements are true about cSRX firewalls? (Choose two.)

A. The host OS can be different from the guest OS

B. The host OS and image OS must match

C. The cSRX does not use static CPU reservations

D. The cSRX uses static CPU reservations

ANSWER: A D 
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